IRSOVUAWUID,

SUMO DRYWALL SANDER
INDUSTRIAL

VARIABLE SPEED
THaowa:zaanlumsidons:nan .

= - — b _'_'_
AWISIAL ﬂ JURPN

M=l

SIS0 SWI
+4 e —

1500/ - 2600rpm

W LED dovadwsounwuta ¥ S~ - 4

HIGH QUALITY 360" LED LIGHT :

@ C€ 4,000-”:[:

2 Pes/Carton

P o = =y & ]
IhU'L'EI'II"iEUiSul'taI:-IE fur:l E h A8 (How to use) gayanoinAlR mecsnca oara) D

. ..=r|_-'|Er||Hr:-run:n.;§::-5::|u'i'ﬁm1..=|unurrr: Sorul SO

Fpin '\-':'ll'h:r'."r“'n.r"n EE D“-.-‘.-'EUHc

t]jp TILE -Fi::. 1) i:l-JI'I'I‘-I‘LI.I"_I s |1IQ'|_|_"||_‘| F‘.I‘:'Il.:-u:lll Prsasr 1?'3":'1!";
LR |

anged by tumng the specc  [ERREIEES 1500-2600RPM

Spwcad el 6 Levels
1.22Nm
:i:-l'\-".lﬂ.: Troead MEx1mm
215mm

fomue

L - BN s
Connpoiing pad

H-u; |.:.|: .|I| —inhr ?E 5 M

adm

Cokls Limgith

Carbon Butsh Bx10x15mm
Bimension 35x30x27cm
Hr:; Weigh E3kg

Category 0 8

IASavUDEIY : POWER TOOLS




=) @E =) @)

ce ol

InSovjoE1v : POWER TOOLS Category 08




No. DESCRIPTION No. DESCRIPTION

1 Screw 33 Brush holder

2 Right motor cover 34 Carbon brush

3 Electric board 35 Brush holder cover
4 Cable 36 Left motor cover
5 Cable cover 37 Transformer cover
6 Cable plate 38 LED transformer
7 Screw 39 LED

8 Stator 40 LED switch

9 Bearing cover 41 Reflective cover
10 Bearing 607-RS 42 Screw

11 Rear anti-dust plate 43 Screw

12 Rotor 44 Washer

13 Vacuum fan blade 45 Wind adjuster

14 Front anti-dust plate 46 Plate

15 Aluminum bearing cover 47 Screw

16 Bearing 608-RS 48 Screw

17 Switch 49 LED cover
17A Switch button 50 Disc cover

18 Bearing 607-RS ol Side cover

19 Shaft circlip D2 Sanding pad

20 Big gear 23 Sanding paper
21 Circlip 54 Hex screw

22 Bearing 6002-RS 54 Hex screw

23 Gear box cover 55 Side handle

24 Sealing ring o6 EMC

25 Screw o7 Lock of switch
26 Left anti-dust plate 58 Spring

27 Pin a9 Button

28 Spring 60 Wear plate

29 Active shaft 61 Screw

30 Screw 62 Wear strip

31 Output shaft 63 Chassis

32 Right anti-dust plate

InSovjoE1v : POWER TOOLS Category 08



i m nSendanid Y duduen

1LONG REACH DRYWALL SANDER
SUMO JRYWALL SANDER

INDUSTRIAL lIS'[IE}I]'”:
L 0~ VARIABLE SPEED ? @@@

Ii':}umi.u‘nﬂinm:lﬁm
T M O00RRM

na:ANUSIsaunlswu

7,000.-/Pc

2 Pes/Carton

HIGH CUALITY 360° LED LIGHT

R

X IKUEEHSU {Suitable for) X - 58ki (How to use) dauamuinAdn mechnicas patal B

Flcodowowsausugowy rundnsudomdogu e ansniSonnoudas l..l_l II..II Elur" _||| rle"iJ‘Ei £y
|'Tr'|l.'||1 -'"|||;ﬁ ll.:”'-lfi"i_l_‘u‘i Imjast Vi I'l|||u Fragpmarcy IEDI'J.'IE'GH.E
: |:1.IFI:i:.|;|r| i Poasr ?1 El'lh'l'.ll
MaLoad Gpesd 1000-1850RPM
S level 6 Levels

To I.'|I.-'= 2 A E-Nl'l'l

r:HIII-l-l:iI'.i: e 21 Er'l"ll'r'l
E}ILJI IE['I..ILI'H"I SO (Standan Accamsones) T
e syt com 225mm

Max pad damsisr

Hiatid b ;R'E.."II T0-180cm

Cable Lengh ﬂ-ITI

l'.:'lll'.l'.ll Brust HxBx16mm
r;llll-"nll:ll ?DEED EIKEB[:I'“
Hr-l :.'.'-.H:'\-'. 4.1 k!;l

AZoV0YY : POWER TOOLS category 08




|
o~ 1)

InSovijoE1v : POWER TOOLS Category 08



57 Rotor 1
58 Insulating strip 1
59 Bearing 607RS 1
60 Bearing cover 607 1
61 Wind loop 1
62 Screw ST4x50 2
63 Stator 1
64 Motor housing 1
65 Screw M4x20 4
66 Brush holder 2
67 Carbon brush 5x8x16 2
68 Screw ST3x8 4
69 Coil spring 2
70 Cable cover 1
i Back cover 1
72 Screw ST4x14-F 9
73 Pipe screw 1
74 Right rear handle 1
75 O-ing 225.8x1.8 2
76 Small aluminum pipe 550mm 1
77 Left rear handle 1
78 Cable 1
78A Cable 1
79 Capacitance 0.33uF+2*2200pf 1
80 Inductance 2
81 Cable plate 2
82 Variable speed control 1
83 Dust proof plate 1
84 Left handle 1
85 Right handle 1
86 Cable cover 1
87 Switch push button 1
88 Switch push 1
89 Switch 1
90 Wire plate 1
9 Big aluminum pipe 430mm 1
92 Pipe adapter 1
93 Assembling bolt M5x35 1
94 Spanner 1
95 Spring pin @5x15 1
96 Hook 1
97 Front fold plate 1
98 Back fold plate 1
99 Rebite @4x10 2
100 O-ing @336x3.1 1
101 Pin @bx45 1
102 Front connecting plate 1
103 Aluminium pad 203mm 1
104 Dust proofboot 1
105 Vacuum pipe 410mm 1
106 Hoop 1
107 Right front support 1
108 Left front support 1
109 Inner hex screw M6x20 2
110 Sealing 1
111 Locknut M5 1

NO DESCRIPTION SPECIFICATION Qry
1 Sanding paper 6
2 Hexagon screw M6x12 1
3 Adhibit tray 1
4 Wool mat 1
5 Long brush 1
6 Shot brush 1
7 Led cover side part 1
8 Led cover 1
10 Glue filled led strip 1
" Screw ST4x12-F 9
12 Dust proof plate 1
13 Cable 1
14 Circlip 235 1
15 Protect cover 4

15.1 Protect cover 1
16 Screw ST4x8 6
17 Plate 3
18 Screw ST4x10 i
19 Plastic cover 1
20 Led switch 1
21 Out-put shaft 1
22 Screw M4x12 8
23 Front cover 1
24 Bearing 6001RS 1
25 Hole circlip 028 1
26 External circlip 12 1
27 Steel ball S@3 1
28 Big gear 1
29 Needle bearing HK0808 2
30 Spring 4
31 Gear plate 1
32 Bearing 6001272 1
33 Gear shaft 1
34 Steel ball S5@2.5 1
35 Bevel gear 1
36 External circlip @10 1
37 Screw ST4x16-F 31
38 Blade cover 1
39 Bearing 608 2
40 Shatt circlip @9 1
41 Fanblade 1
42 Fan shaft 1
43 Sealing 1
44 Bevel gear 1
45 Locknut M6 2
46 Front wind loop 1
47 Back blade cover 1
48 Pin 22.5x16 2
49 Locknut M5 1
50 Left clamp 1
51 Screw M4x25 4
52 Gear box 1
53 Right clamp 1
54 Screw M5x14 1
55 Bevel gear 1
56 Bearing 629RS 1

1ASoVoEY : POWER TOOLS

Category 08




W

SUMO
INDUSTRIAL

THE ROCK OF

(ﬂE

S0 FULL POWER

SE

'q AOWISISOU SPEED
~280-220RPM

asouy

PORTAB

HUH@UH

LE WET CEMENT PO-

7800

USUF\O‘\UISOSOUIF\ NIRRT 860W ValA1Suu Tuns:Inn
VARIABLE SPEED ruLL PoWER 860W SMOOTH POLISHING

@ nduwanadn .
T3drsutarevauAuia:NagKinIkiSyUIauD
foud:IEndugawavurdksudoa:idea
Rough polishing pad used for polishing the sharp
Of surface before use the fine polishing pad.

@ ndugawavln

 [Bdnsudoa: |aao||cmnmuumunsawudu?h
aduna:Reudvdu
Sponge polishing pad used for fine polisng.

® NS:QUNS1Y 1UDS 40
amsuuomumuna\anunmnaJ Kyuiseu
Tiiauaawnsalsdaifiunuld
Sand paper pad No.40 used for dry polishing.

gunsaiasy (Fogaiwuidu)

METAL POLISHING PAD USED FOR
SMOOTH THE SURFACE.

A\ E)UﬂSﬂ.]U"I(‘ISG"lU / STANDARD ACCESSORIES N

1. IIUuwa‘Iann / Plastic pad

2. nJugawavth / Sponge pad

3. NS:0NuNS18 1UDS 40/ Sand paper pad No.40
4.TW led / Led light

5. Tun2v / Screw driver

6. 1Usvuau / Carbon brush (13.3x7.9x4.9mm)

1nSoVT0KIY : POWER TOOLS

7\
[[I

MG

v

5, 400 -/Pc

2 pcs /ctn

S19a:19903dUAN / SPECIFICATION

nsvAUlWwA
Input Voltage

‘\1

AUATWIN
Frequency

rdolwi
Input Power

A2UIZISOU
Speed

€80-220RPM

Usumowifald
Speed Laval

6 LEVELS

lisvUogvan
Max Torque

20 N.m

uulanlusav
Size of Polishing pad

15" (380 mm)

M6x1.5 mm

AUENIGU
Handle Length

1.5m

ANUENdEEW
Cable Length

4m

YuNaIAEoY
Demension

33x20x23 cm

tkaniAZan
Weight of Machine

3.2 kg

Category 08




i;h;%@ insanuuttinuuisy

INDUSTRIAL

PORTABLE WET CEMENT POLISHING

esoWw. £ 7800

5aVAIUDE AuUdNanuasnIUas unlsuanulavigiiaa-aan
CARBON BRUSH HOLDER IS OUTSIDE, IT IS EASY TO REPLACE THE CARBON BRUSH

¥OVS:UNYAIIUSOU

govuunalkayausas:ungnnusaulda
COOLING BY BIG VENT.

aasusundWISISoU
awsausuANLISISaU
Td 6 szauusudeTdvua:aon
ADJUSTABLE SPEED, CAN ADJUST FOR
6 LEVELS, EASY TO ADJUST AND USE.

1A% WAOINIFQISUIITEZOWaNAGN
Aluauiw nuAdWSouldgy

FLAME RESISTANT ENGINEERING PLA,TIC
WITHSTAND HIGH TEMPERATURE.

WLED KdKSuUS:NoUAUGIWIUED
AKEUEo0aTY HOOK FOR THE LONG HANDLE.
awsansowla ANUIU 29NIIVUONUESS:AEAS

LED LIGHT, IT IS RECHARGEABLE. IW2aandWIDoudwovdaio

Tuveuzrihvu

Handle is designed according
to ergonomics. It reduces
user's wrist fatique

while working.

INAYD M26x1.5 mm
THREAD 1S M26X1.5 mm

asnsida/ua
IUUNIIAYD &:02n

la:lgouvng
LED LIGHT, IT IS RECHARGEABLE.

aelwend 4 1was
CABLE LENGTH 4 m.

ndusov 15 0D

ronwanadn ABS 13visv numu
. g s g o Blae - _ pauGninanusaidasundugalavng
IR Usus:auannuiSolkikun:auiunsda ABS VELCRO PAD 15", DURABLE AND EASY TO

CHANGE THE POLISHING PAD.
35MsiEvu / HOW TO USE .
_ N1SQIiaSnNu / MAINTENANCE

f3drsudksudukunyu

NUWUYUTRISBUKSD(S o 150rMALE:0100I1A32VNNASVKAVNSIS
dKSuTQU UKL ® amm‘]uuonnnsoha\)msTumu e 1fiUlu
USED FOR POLISHING OR AIkona:wubaidn

® CLEAN THE MACHINE EVERY TIME AFTER USING. ® WASH THE

g SMOOTHING WET CONCRETE b0y NG PAD EVERY TIME AFTER USING ® KEEP AWAY FROM THE
FOR WALL AND FLOOR. REACH OF CHILDREN.

InSoVJoB1v : POWER TOOLS Category 08




insopiukuIuKIGS

W"PT’\"’S' E WET CEMENT POLISHING

ow..:. /800

SPARE PARTS

13 6 17 18 19 20

\. J/

InSoVjoE1v : POWER TOOLS Category 08




X Rt 1e

LI PORTABLE WET CEMENT POLISHING

=3 o

ecow.: 7800

SPARE PARTS

No Description QTY Price Description QTY Price
1 Tool tray 1
2 Handle 1
3 Governor 1
4 Handle 1
5 Switch i
6 Gearbox front cover 1
7 Gear assembly 1
8 6000 Bearing 1
9 Gearbox 1
10 Gear assembly 1
11 6003 Bearing 1
12 Left casing 1
13 Left lamp housing i
14 Lamp controller 1
15 Right lamp housing 1
16 Brush grip 2
17 6001 Bearing 1
18 Motor assembly 1
19 608 Bearing 1
20 Right casing 1
21 Cable protection sleeve 1

InSovos1L : POWER TOOLS Category 08




¥,

SUMO
INDUSTRIAL

e N
A 5815 (How to use)

Tuamsua'msuﬂunmUumuquuTmsaunsa
TUEHKSUUOUUKU'\UU

Used for polis hmg orSmoothingwet concrete
For wall and floor.

A AtUAVUE / FEATURES

o TAulwthu 220V e fdodadiGiu 710W e uaiaasnaw
VIR 100% e S:uuIRavIfuISvNUNIU @ a1wsn

sunAnwiISasauld 6 s:du @ TEAuIkudauunQ 15"
e Jududninivasunnudaldvne e seuiadesdald
geuluns-laa

@ Use with 220V home power @ Full wattage 710W e 100% Pure copper
motor @ Strong and durable Gear reduction system e Can adjust the
speed of Rotation 6 levels @ For use with 15" sanding discse Velcro foot
pad easy to change abrasive pads @ The round is stable, can be polished
smoothly, does not jump.

~ AWARNING @)@

Andau! IwoATWUasarielunsldoiu AIsTIuddanau
UnUBMuIa:URUBMUATaE0IASYASO ﬂ:rsajuaunsru

‘Iaunu 15U (1009 gUNSnianide nducn ’Widoyn |‘Iunu

e 15"
CEMENT SANDER 79@@

aUNSAUUNAOSTNU (Standard Accessories)

1. |||'Juwa1acm / Plastic pad

2. idugawavih / Sponge pad

3. idudaikan / Metal Pad

4. n5:01uNS$1E 1WDS 40 / Sand paper pad No.40
5. Tundv / Screwdriver

6. nUsveinu / Carbon brush (5x8x15mm)

@ nduwanadn )
IdKsudakeuavAuiandekiIRiGouiEaua
Aoud-gnludowavirdksudoa:ea
Rough polishing pad used for polishing the sharp
Of surface before use the fine polishing pad.

\ @ ndugawaoth
TSdnsudoa: 15ﬂ0uu\mu'n]ua‘|un§awuuu?h
divla: IaEIUE.I‘DiJU
Sponge polishing pad usad for fine polisng.
® nudaikén
' Tidssugauurtadateuiiou
Metal pad used for smooth the surface.

® NS:Q1LNSIY
dwsudaifiunurdonnyuirondd fkthyuseu
Tuiauaawsatsdaiiuould

Sand paper pad usad for dry palishing.

1ASovUoBY : POWER TOOLS

4,900.-/Pc

2 Pcs/Carton

$19a:199QFUAT / SPECIFICATION

isoaulwih

Input Voltage 220V

AWAWIT
Frequency

aolwWi
Input Power

50Hz

710W

AYLIEISaU

Spead QGO-ZDORPM

Usupnuigald

Speed Level 6 LEVELS

Isudaguga
Max Torque

4.51 Nm

yunandusan
Pad diameter

370mm

1jugauuioguan
Max pad diameter

390mm

yunainaen

Spindle size M6x1 mm

yunaindan
Demension of maching

awenaalW
Cable Length 4m

yunanlsuaiu
Carbon brush size 5x8x15mm

Category 08

45x39x32cm




ndusov PAD 15"

SUMO INagI M26x1.5 mm

szumsa\)
JunmUu 15" @
SU 7800

NJusav d1ksusoviduda 350.-/PC 25 pesft

SPECIFICATION o AsaorhANUaanaNasAubIuRIKY

NNASHKALMSTEOU
SIZE £38 cm e Zonlsidusovikasoriuindoviolwuh
SPIRAL M26x1.5 mm

MATERIAL | PLASTIC ABS
NET WEIGHT | 430 ¢ Kwdanlavia3ovio

InSovor1v : POWER TOOLS Category 08




.l IJuwa1adin Jokeu 15"
T PLASTIC POLISHING PAD

nduwanadn
dKSudaKgwauAUIa:
inaskuulKiseuiaua

[BAuIASoY
Jukuyu 15&‘
su 7800

SPECIFICATION

SIZE @38 cm
THICKNESS | 1.2cm

MATERIAL | PLASTIC
NET WEIGHT | 360 g

250.-/Pc 25 pcs/ctn

3 mﬂnunmsaﬂummduum HUUIIH‘JHU']D”] 1)

T H'IﬂLJUIIH‘JIIa}DBDWSUU'ITHHU‘iD‘] IdFouda
INUIKWUDRIAN KILINUIDINAIW | g 0yc3qoiia: sfuBTufkonnASokd Mo

RBIoUUNKIUIRDID | 5onTududaTiikuniuviurosdo

IASOVIUOYIVL : POWER TOOLS Category 08




nuwavuh Jaa:dua 15"
SPONGE POLISHING PAD

e g

IIUUWEJ'DU"I
dasBuaundoiu IdoKthyu
anuduaaana :158UEVTU

iy

[Biuinsov

Jukuyu 15*

su 7800
SPECIFICATION

SIZE @38 cm

THICKNESS | 4.6 cm
MATERIAL | SPONGE

NET WEIGHT | 95 9 250. '/PC 20 pes/ctn

'Trj||tluwa‘lamﬂumaunm|a Usuwnnmdunnﬂsn
fouldnluwavth
-HJSTﬁunﬁsaUUHuwuum nUuum:mumq 1]

fulkwubaidn kuiduBinalw mﬂUuuﬁuua:manwsuuﬂnﬁmm IadAvuUa
sulitounsiktiUuIRorE | @ AosaviasfubluAiRonnasbrdmMsEoU
: o iGonlBndudaliKurAuvIuRvda

IASDV0YBIV : POWER TOOLS Category 08




: nduikan Jauu 15"
A METAL POLISHING PAD

ndJuikan
dKSuTaUuUKSoUQISYU
UguguIn

| trwdiksy

[BAuIASaY
Jusunyu 15" =
Su 7800

SPECIFICATION

SIZE @38 cm
THICKNESS | 0.9cm
MATERIAL METAL

NET WEIGHT | 995 g 420.-/Pc 25 pes/ctn

OTunUuwawaonuoaUF}una Usuw:)huwunnﬂso
Aouldnluikan
QHDSTUUOHSOUUHU’IUUUN nUUIIh\)hU’IO‘] 0

mﬂUu||h\)||a:>oa\)wsuuﬂhhmo°] 1d)Aosln
® nysaoiia:fulTuAIkLNNASHKALMSIBoU
e 3onEnludalkIKu:AuvUND:T

InSovijos1v : POWER TOOLS Category 08

ifulkwudain Kuifuldinalw
Rulgdautu:AKIJuUIRkVIED




R NS:QIYNSIY 15" 1UDS 40

SAND PAPER DISC

SUMO

INDUSTRIAL d1KksuinSavUuKuyu

a4

[sTanuvyuimnound
AuInSavdukuJu

sy o

fGAuiASoy
Jursunyu 15"
<u 7800

SPECIFICATION

SIZE @38 cm
THICKNESS | 1 mm
MATERIAL  |Aluminum oxide
NET WEIGHT| 110g

80.-/Pc

Januzun :

Aulkwuboidn ruiiubinglw | ®1donlianua:Beavans:aiuikgndovmsmu
RulggautuAKIYUIRkLIED

InSovos1v : POWER TOOLS Category 08



